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Answer all five questions

All questio"t ":y equal marks

1.a) Draw a hyperbola when the e€centricity _i, 3k.T.{ tr,. distance between focus and

'i; jqr"Er.;ii:ihlrl_ni'" o**-iinefi.g una no-l.d.utit" tt " .*.-,u,g;?t 
,1 3oi" 

40mnn rrom

i"lfqduo. '.........!I"i. \......,;i i...iil', 'iij---i -i-ni:.
Ul ""in ui" a of 144 sq.cm cm a map represe4$ I ai91of 36 sq.km on the field. Find the gF

of the scale, and draw a diagonal scale to show kilometres, hectametres and decametres

and to measure upto 10km. Mark a lengtli of 7km, 5hm and 6dm on the scale" [8+7]
OR

2.a) A circle of diameter 50 mm is rolling on another circle of diameter 50 mm. Draw the path

,-...-,traced out by.s^point-on the rolling pirole for half revolution of tfre'r-,o[ling circle. i i i ''i
h)i ,#il;iil;;;b$fr*;n'tt*o staiioiis:ls,rioo t m jiri{ qno road rnhp'ttiisshown by:p;om;:-'L 

''t*ruw a diagohal'seale and indicate distances of a6.8 kni'and 32.4"1irn on it. -[8+7] '

3.a) A line pQ, inclined at 300 to the H.P., has the end P at20 mm above the H.P. and 10 mm

in front of the V.p. The front view of the line is 70 mm long and inclined at 600 to the

reference line. Draw the projections of the line and determine its true length and

.--inclinations wjth. the..principal plqnes-..-, .r"--, i""""'., f--i i'l'1-- * /.'^'^ i*-,
Uf t i* cirbular fanrini wiih a 60 min did;p-ejer has itpo,.n1re4O mm aloyer-thgH'P' and Ap iltlF
'i, "ff"rr#;i;T;r.i*-il;i;; Jf ffiu*inu i' pb+"idicular io theiH.?. and inclindd ;t

+Sdto the V.P. Draw its projections. 
OR 

[7+8]

4.a) A l2O mm long straight line PQR, is inclined ul 
?00 

to the H.P. and 450 to the V.P. The'. ' point e divides the line in the ratio of 1:3 and is situated 40 mm above the H.P. and

O0 *m in front of the V.P. Draw its projections' 
..

Ul r #reci.rgrrri:i;f"A;r ob *r:a"iro' aOrmm sides iests'on the I'I.F; 6n itre strortEitiedgd;"'i: 
:*rtri":o il.aflta+;;i.;i,#;tie;V.P" 'refi"igrt{e,centrd"o},11iuinr}te 

lieq-io mi
above tfre H.p. and 30 mm in iront of the V.p. Draw the projections of the plate and

determine angle made by it with the H.P. [7+8]

{
5. A cylinder, with a 50 mm base diameter and a 70 mm long axis, is resting on its base on

H.p. It is cut by a section plane perpendicular to V.P., and outs the axis at a point distant

.:".-el-rnm from,.the top-end of tn";uxir and mak-es-aniaugle of 45'-with the refere:rtcq linei

:,"",,;;;j;;'ild$#,s'ectionalroB viesi and an6tliprmJ view oh an A,l:P. parallbtito,the'

'"'ij"ia,-or"""::"'l,,il--."..-^',...-.il_,'i.'.,....,.i\,........'.'i,z-[15]

6. A pentagonal pyramid, having u*. *i,?140 mm side and a70 mmlong axis, is kept o-n

the H.p.-on its base with a side of the base perpendicular to the V.P. It is cut by an A.I.P.

such that true shape of the section is a trapezium having one of the parallel sides 15 mm

i.^.-..\.. .,.....t-ong...and other...p,aqal.tel side being largest as pgssible'..Draw its--frpnt"vier'v, section'al,top

i"" 
j i,",;;j"fi,.rard *t,i+pi sf the secffi ! -I - 
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7. A vertical cylinder of 70 mm diameter is penetrated by another cylinder of 45 mm

diameter, the axis of which is parallel to both HP and the VP. The two axes are 9 mm

apart. Draw projections showing curves of intersection. [15]

i-.-, ," 
' B. i--la r"rr"eo,ur,piirm o.r base 3d"A*-.r.,i,4:t"a e.o]1ra$.aight is i;il#" the uase-iniift

i. -, .^-'t' i .iiirrir,tfri't ori" 3e ihe rectangurhr iace is pirallel'.tio tf,e ve'rti i$.cut bvia-tiaria
. perpendicular to VP and 60 degrees inclined to IIP and bisecting the axis of the solid.

Draw development of lateral surface of the boffom part of the solid. [15]

g. A frustum of a cone 30 mm as top diameter, 50 mm as bottom diameter and 60 mm long

is placed vertically on a square slab of side 70 mm and 30 mm thick, such that both the

i-":soiids have thti-'bbrhmon axis. Draw thb isometriCpnljeAtion of t;fi"e.fofilination 
"rfl;rt]19"1:

i: ;: itti; i-''- i: -)*t' i"-:i=i, .i ji'i 'i-[.tsr,.'

10. Draw the elevation, 6p ,ri"* una 3# view of the object shown in figure. All
dimerrsions are in mm. [15]
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